Rockford

Hardware Included:  Tools Required:
o #2 Phillips Head Screwdriver

333")33 e #3 Phillips Head Screwdriver

#12 x 1”7 screw

Step 1:
Place the table top upside down on a clean, padded surface.

Step 2:
To attach leg assembly, align leg plate with locating holes on underside of top. Attach leg assembly to top using
#12 x 1" screws. (Do not over tighten).

Step 3 (optional):

To adjust leg height, loosen #10-32 x 1/2" TAP-TITE BH screws until the bottom leg section is loose, adjust leg
to desired height and secure by tightening the TAP-TITE screws. NOTE: the plastic bushing must be installed in
between the upper and lower leg.

Keel required for tables 60"+.

Step 4 (If applicable):
To attach table support keel, center keel along midline and equal distance from each end using #12 x 1" screws.

instructions-alba-200113

]
Assemble tables only as described in this ' 0
A guide. All fasteners must be tightened ‘ I I I ed I a
securely and checked regularly. Failure to -
é technologies

AUTION o 50 could cause instability and injury.




